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Ex/Sans/UG/1.2/11/2017

BACHELOR OF ARTS EXAMINATION, 2017
(1st Year, 1st Semester)

SANSKRIT (Honours)

Course : II

[Fundamentals of Sanskrit Grammar]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1. EÍF:Ò¼¸FFÎFFk ÒèÎFFÎFFÛF]¸FÞFPµF ÑF[µFaæFFƒÜFY: PáF&ÜFÎ¶FFÛFh— 1×5=5

(=+) i&FÞhj-Ò¶ÜFFùFÞW =W+ðFFk æFµFFaÎFFk ;FeùµFk ÚFæFP¶F?

(&F) iƒ¶FæF¶F]j-Ò¶ÜFÜFõÜF =+PõÛFÎFh æFF˜ÜFW =+PõÛFÎFh =+FáFW ˜F ÒÜFX;F:
õÜFF¶Fh?

(;F) ;FÛF-ÍFF¶FXß¸FÞk =W+ðF] æFF˜ÜFWðF] iƒ¶Fj-Ò¶ÜFÜFõÜF ÒÜFX;F: õÜFF¶Fh?

(fF) =+F ÎFFÛF P¶F‘h~-PæFÚFPƒ¶F:?

(‘~) ¶FPÊ¶F-Ò¶ÜFÜF: =+õÛFF¼]¸FÞk ÜF]¡ÜF¶FW?

2. ¼WæFÚFFðFFÜFFk ÚFFðFFÎ¶FÞk =+FÜFaÛFh (¼WæFÎFF;FÞUÛFFPêF¶ÜF) 1×5=5

(=+)

(&F)

(;F)
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(fF)

(‘~)

3. EÍFXÞW&FFP’~¶FÑF¼FÎFFk =+FÞ=+-PæFÚFPƒ¶FÒÜFX;FF: PÎFàÑFµFUÜFF:—
1×6=6

(=+) ¼WæÜFF &F°h;FWÎF ù¶FXNõF]Þ:—

(&F) šF·FFµFFk ¼WæFU õFÞõæF¶FU EP˜Fa¶FF—

(;F) G¼k ÛFÛF ÚF]ƒ¶FÛFh—

(fF) ÛFÍF]k PÑFÑFFõF]: ÞõFk PÑFÙFP¶F PèFèF]:—

4. EÍF:Ò¼¸FFÎFFk æFFƒÜFFÎFFk æFF˜ÜFPÎFàÑFµFÑF[æFa=k+ æFF˜ÜFÑFPÞæF¶FaÎFk =+FÜFaÛFh—
1×5=5

(=+) Eùk ;FeÎ»FFÎFh ÑFP*¶FæFFÎFh—

(&F) ÛFÜFF EÎÎFk &FFP¼¶FÛFh—

(;F) Eùk ;F¶FæFFÎFh—

(fF) PèFèF]ÎFF ¼];ÍFk ÑFU¶FÛFh—

(‘~) ÑF]ÞXPù¶F: ¼WæFUk ÑF[P¡F¶FæFFÎFh—

5. ÛFÛF ÑFPÞæFFÞ: GP¶F PæFðFÜFÛFPÍF=_+¶ÜF æFFƒÜFÑF¦˜F=W+ÎF J=+XNÎF]˜šW¼:
¼WæFÚFFðFÜFF PæF Þ˜ÜF¶FFÛFh (¼WæFÎFF;FÞUÛFFPêF¶ÜF) 5

6. EÍFXPáFP&F¶Fk ;FeÎ»FFkèFk ÑFP*¶æFF ¶F¼FPêF¶FÒèÎFFÎFFk ÑF[µFaæFFƒÜFY: õF]ÞP;FÞF
õFÛFFÍFFÎFk =+FÜFaÛFh— (¼WæFÎFF;FÜFFaÛFh) 1×4=4

êFU¡F;FÎÎFF»F¼WæFõÜF Þ»FÜFF·FF PæFèæFÒPõFÊF EPõ¶F— JðFF ÜFF·FF
ÒP¶FæFðFaÛFh EFðFF³W ÛFFõFW, ÑF]ßðFX¸FÛF‡FW·FW Ò ˜FáFP¶F— EõÜFFk ÜFF·FFÜFFk
ÚFF;Fk ;FeùU¶F]k ÚFFÞ¶FæFðFaõÜF PæFPÚFÎÎFWÚÜF: Ò¼WèFWÚÜF: PæF¼WèFWÚÜF: ˜F
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EÎFW=W+ ÚFƒ¶FF: ÑFÜFa©=+F: ˜F ÑF]ÞUÛFh EF ;F˜šPÎ¶F— ¶FW ÑF]ÞUÛFh EF;F¶ÜF
P·FðF] Þ»FWðF] ¡F;FÎÎFF»Fk, ÙFáFÚF½k õF]ÚF½Fk ˜F ¼_ñhæFF ÍFÎÜFF: ÚFæFPÎ¶F—
EõÛFF=k+ ÚFFÞ¶FUÜFÑFÞÛÑFÞFÜFFÛFh JæFk ÒPõFPÊ: EPõ¶F ÜF¶Fh iiÞ»Fõ»FõÜF
¡F;FÎÎFF»FõÜF ¼èFaÎFF¶Fh ÑF]ÎF¡FaÎÛF ÎF ÚFæFP¶Fjj GP¶F—

(=+) ÑF]ÞUÎF;FÞõÜF P=k+ ÎFFÛFFÎ¶FÞÛFh?

(&F) =+P¶F Þ»FF: ¼_èÜFÎ¶FW Þ»FÜFF·FFÜFFÛFh?

(;F) =+õÜF ÑF]ÎF¡FaÎÛF ÎF ÚFæFP¶F?

(fF) =+PõÛFÎFh ÛFFõFW Þ»FÜFF·FF ÚFæFP¶F?

____________
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